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For each question from 1 — 15, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the optical answer
sheet. (30 marks)

1. Study the classification diagram shown below.

Animals that lay eggs

!

[ I
Group X Group Y
Salmon Turtle
Mosquito Heron
Frog Butterfly

Which of the following are the most suitable headings for the two groups?

7 GROUP X GROUPY
(1 Lays one egg at a time Lays many eggs at a time
(2) Lays eggs in water Lays eggs on land
{3) Eggs with shell Eggs without shell
{4) | Eggs do not need to be incubated Eggs need to be incubated

{Go on to the next page).
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2. The animals below share common charactenistic(s).

a spiny anteater abird

What is fare the common characteristic(s)

They lay éggs,

They grow and eventually die..

They feed on the same type of food.
They respond to changes around them.

oW

(1) AandC only
(2) BandD only
(3) CandDonly
{(4) A,Band D only

(Go on to the next page)
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3. How are the young of the grasshopper and the butterfly simifar?

A : They mouiit

B > They tum into pupae.

C : They have no wings.

B : They resemble their parents.
(1} Conly

(2) AandBonly
(3} Aand Conly
(4) B, Cand D only

Raju wants to grow a long bean plant from seeds. Which of the following are

needed for the seed to germinate?

A T air

B > water

C : warmth

b . sunlight

E : carbon dioxidé

() A, BandConly
(2) A,BandD only
(3) A, B,CandD only
(4) Al of the above

{Go onto the next page)
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5. Study the classification chart below.

Does it make its own food™?

L Yes

Does it live onland?

\LNO

No
——s | P
Yes
—> | Q
Yes

Does it float on water?

lMo

S

Which of the following correctly shows what P, Q, R and S most likely represent?

P Q R. S
(1) Lion Cactus Duckweed Hydrilla
(2) Earthworm Sunflower Hydrilta Pine
{3) Grass Ladder fern Whale Tapegrass
(4) Rabbit tapegrass Duckweed Hydrilla

(Go onto the next page)
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6. The pictures show the different stages in the growth of a plant. Whét is the
correct order of growth?

(1) CADB
(2) GCABD
(3y CDAB
(4 GCpD,BA

7. Two identical seeds were placed in a dish as shown below.

O

Dish A Dish B

After a few days, only the seed in dish B germinated.
What are the most likely conditions that caused this result in both dishes?

Dish A Dish B

(1) Placed in a sunny place and Placed in the refrigerator and

' watered daily watered daily
{2} Placed in a sunny place without Placed in a dark cupboard and

any water watered daily
3) Was-put in a pot of boiled water Placed in 2 container of alcchol
(4) | Was wrapped in clingwrap and not | Was put into an aiﬁight container
watered and not watered.

(Go on tothe next page) .
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8. The diagram below shows a swimming board.
What characteristics must the material for making the swimming board have?

A : Itmust be hight.

B - It must be flexible.

C  : ltmustbe waterproof.
D .t must float on water.
(1) Conly

(2) AandDonly
(3) B.,CandD only
4 A CandD only

{Go on to the next page)

- . © e ——



9. A scientist discovered W, X, Y and Z while doing an experimeni. He set out o
determine 1f the four things could be classified as matier.

) The results were tabulated in the table below.

Volume { cm?) Mass (g)
W 5 | 0
X 7 10
Y 8 15
7 0 21

Based on the results that the scientist obtained, which of the four items are
matter?

(1) WandY only
2y YandZonly
(3) Wand Z only
(4) XandY only

(Go on to the next page)
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10. Which of the following are not matter?

D Heat fromthe sun

A douds B : Shadow of a girl

G :vandblowing on a free

(1) AandBonly
(2) B and C only
(3) AandConly
{4) B and D only

11. Samy half-filled the communicating flask with water.

Which one of the following correctly shows the apparatus when it is tilted?

(3}

{Go on to the next page)
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12. Pefer hangs a magnet from a spring as shown in Diagram 1. He then puis a
second magnet directly below the first. What would he observe?

—Magnet A s ~MagnetA
Magnet B
. ground ground
Dragram 1 Diagram 2

{1) The spring stretches more in Diagram 2.
(2) The spring stretches less in Diagram 2.
(3) The magnets will attract each other.

(4) The spring is of the same fengih as in Diagram 1.

{Go on to the next page)
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13. Candy wanted to find out which of the three metal bars, AB, CD and EF are
magnets. She hung each bar from a sfring and brought them near to each other.

Her results are shown below.

A _B.I [C i Rl o 3.' | Al ic' ci|

O ) O O e G

Which one of the following is-correct?

AB cD EF
)] Not a magnet Magnet Magnet
(2) Nota ma‘gnet Not a magnet Magnet
(3) Magnet Not a magnet Magnet
4) Magnet Magnet Not a magnet

{Go on to the next page)
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14. Atorch is shone at the two objects as shown below.

lable lenniz balt - /[
fiosted glass Block screen

What will be the shape of the shadow seen on the screen?

1) 2

(4)

(Go on to the next page)
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15. Study the following set-up carefully.

Which one of the following line graphs shows the correct relationship between the
distance of the pen from the light source and the length of its shadow?

(1) (2)
A A
Length of Length of
shadow shadow
{cm) (cm)
Distance of light Distance of light
source from pen({cm) source from pen (cm)
(3) )
A 4
Length of Length of
shadow shadow
{cm) ‘ (cm)
Distance of light source Distance of light seurce

from pen (cm) from pen {cm)

-End of B_oo;det.A- pe—
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Answer all the questions.

The number of marks available is shown in brackets { ) at the end of each question or
part question. : (20 marks)

16. Badawi placed aslice of damp bread into a plastic bag as shown below. He
poked a few holes in the plastic bag and placed it on his dining table. After a few

days, he saw mould growing on the bread.

plasfic bag

a) Why did he poke holes in the plastic bag? (1m)

b) What would he observe on the bread after a few days if he had used a slice of
toasted bread? (1m)

——

-{Go on to the next page)



17.  The diagram shows the life cycle of a butterfly.

a) Name an animal which has a life cycle that resembles the life cycle shown
above. (1)

b) Atwhich stage of its life cycle is the butterfly considered a pest o the
gardener? Give g reason for your answer. {2m)

- """ . (Go on'to the next page)



18. Study the plant below carefully.

For each of the following statements, tick ( ¥ ) the correct box to indicate if the
statement is “True®, “False” or “Not Possible to tell”.

(2m)

Statement

True

- False

Not possible to fell

M

The plant is an aduli plant.

)

The plant has reached its
maximum height.

&)

The plant has a network vein
pattern.

4

Some flowers on the plant will not
develop into fruits.

——

(Go on to the nextpage}
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19.  Meena attempts to pour 30 ml of water quickly into each of the two glass conical
flasks as shown below. Water does not flow into Fiask A quickly while all the
water flows into Flask B quickly.

funnel
stopper

:—:::T;' 30 mi of water

conica| flask
FlaskA Flask B
a) Why does water flow into Flask B quickly and not in Flask A? (1m)
b) State one way to make water flow into Flask A quickly. (1m)

{Go on to the next page)
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20. Mariam placed a ball of plasticine inio a beaker of water and she noticed that the
water level rose to 180cm.

______ 180 om’.
T....—...-.: :.._- 150 cm®
.= _-— —-— -
She took the plasticine out of the water. She noted the reading, which was
150 cm.
a) Whatis the volume of the stene? (1)

b} She next cut the plésticine into two and placed both parts back into the water
again. What will the new reading in the beaker be? (im)

c) What property of the plasticine can she conclude from the experiment? (1)

~ {Goontothe n-e,;_t_bage)



21.  Study the classification chart below.

Mafter .
~ Solid Liquid Gas
| | | g l
Frasic_| [Noveisic” | [“Cowired | [ Coutess | [ Hasswel | [ Nosmer |
nibberband  Yooden ruler red irk water ammonia hydrogen
X

a) Based on the classification chart above, write down the characteristic of
Substance X. (1m)

b} Based on the information given in the chart above, state one difference in the
characteristic between rubber band and ammonia. (1m)

M A e - [

R (Go_dn to the next page}



22. Sulicarried out an experiment in a dark room. She arranged four pieces -
of paper int a straight line. She then switched on her torch and a bright
triangular patch of light is seen on Sheet R only.

A

hole

torch
Sheet P Sbeeu\ % s@
Put a tick () in the correct box for each statement . (2m)
Statement True False Not
possible
to tell

(@ SheetPis

transparent.
) Sheet Q is opaque.
(© Sheet R does not

allow light to pass

through.
(d) Sheet Sis

transparent

—-—

{Go on to the next page)



23. Hamid wanted to find out how much light was able to pass through the

different materials. He connected a datalogger to a computer to carry out
his experiment.

The results are tabulated below.

material tested

forchiight

g

/L:'ght sensor connected to computer

/|
[

Materials tested Reading on the computer
White envelope 3

Ceramic mug G

Tracing paper 8

Spectacie lens 12

a) Arrange the maferials from the most opaque to the least opaque. (1m)

b) What would be the most likely reading on the computer if a piece of metal
ruler is tested? Give a reason. (1m)

* (Go on to the next gage)
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24.  Danny coiled some wire around an iron rod and a steel rod. The ends of the
wires were connected to an electrical circuit.

switch

iranrod

oAy g
asek)  pile of paperclps

a) When he closed the switch, what do you think Will happen to the two rods?

(1m)

The two rods were placed 5cm above a pile of steel paper clips before the
switch was closed. The number of paper clips attracted to each rod was

recorded.
Number of tries Iron rod Steel rod
1% frial 16 9
2 trial 14 10
3" trial 15 8

b) Why did Danny repeat the experiment three times?

(1m)

-End of Paper-
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16. a) To draw air to enter the bag.
b) He could see no change.

17. a) Moth
b) At the larva stage. At this stage, the caterpillar eats a lot of leaves and

destroys plants.

18. 1) True
2) Not possible to tell
3) True
4) Not possible to tell

19. a) In Flask B, there is a gap for the air to escape and the water to flow in. In flask
A, the air cannot escape for water to flow in.
b) Loosen the stopper

20. a) 30
b) The new reading will remain the same as the plasticine has a definite volume.
) Plasticine has a definite volume.

21. a) Substance X is a coloured liquid.
' b) Rubber band is elastic but ammonia is not. Ammonia has a small but rubber

band does not.

22. a) False
b) False
c) True
d) Not possible to tell
23. a) Ceramic mug, white envelope, tracing paper, spectacle lense
b) 0. Metal is an opaque object and does not allow light to pass through.

24. a) They will become electromagnets.
b) To ensure that the results of the experiments are consistent and rehable
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